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1. Meumnann and Hallopeau are clinical subtypes of T
{A) P. Vegetans
{B) P. Vulgaris
(C) P. Foliaceus
(D) Familial benign pemphigus
2. Which one of the following muscle causes lateral
rotation of hip joint? 8.
(A) Psoas major
(B} lliacus
{C) Quadratus femoris
(D) Pectineus
3. Which one of the following muscle is supplied by
Abducent nerve? 9.
{A) Superior oblique
{B) Superior rectus
(C) Lateral rectus
(D) Medial rectus

4. The function of which af the following is dominated 10.

by the sympathetic nervous system?
{A) Systemic blood vessels

{B) Heart

{C) Gastrointestinal gland secretion
(D) Salivary glands

5. Ernpowerment approach of health promotion adopts

(&) Top-down approach 11.

(B) Bottorn-up approach

{C) Vertical approach

Oy Horizontal approach

Endogenous catechalamines include all EXCEPT:

(A} Noradrenaline

{C) Dobutamine
(D Dopamine

(B) Adrenaline 12.

For regulatory purposes the generic name of a drug
is the:

(A} Chemical name

{B) Non-proprigtary name

{Z}) Pharmacolegical name

(D) Proprietary name

Which of these amino acids is NOT present in
proteins of human body?

iA) lsoleucine

(B} Homocysleine

(C) Hydroxyproline

(D) Gamma carboxyglutamate

The generation time of Mycobacterium leprae is .
(A) 10 minutes

(B} 10 hours

{C) 12-13 days

(D) 12-13 weeks

4 aut of 1,00,000 persons are diagnosed of oral
squamous cell carcinoma in a given population
during a specified time period is best described as
{A) Relative risk

(B) Absolute risk

() Population attributable risk

(D) Attributable risk

Calcination tempearaturs for gypsum to form dental
gypsum products lies in a range of:

(A) 200-220 °F

(B) 230-260 °F

(C) 270-300 °F

(D) 110-130 °F

Which of the following is an approach to handling
confounding?

(A) Individual matching

(B} Stratification

{C} Group Matching

(D) All of the above
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13

14,

15.

16.

17.

The non-working pathways of maxillary cusp on 18,

mandibular posterior teeth is towards

(&) Disto-facial

(B) Disto-lingual

(C} Mesio-facial

(D) Mesio-lingual

Which are the components in dentifrices that inhibits 19,

the growth of crystals in calculus?

i) Sodium Phosphate and Disodium dihydrogen
pyrophosphate

(B) Carbamide peroxide and Stannous Fluaride

(C) Sorbitol and Calcium Carbonate

(D} Stannous Fluoride and Sodium Benzoate

Which of the following has the highest contact angle

of water on solid surfaces? 20,

(&) Amalgam

IB] Acrylic denture resin

(C) Dental ceramic

() Teflon

In healthy oral conditions the interdental papillae is

shortest cervico-incisally /! cervico-occlusally 21.

betwean mandibular.

(&) Central incisors

{B) Lateral Incisor and canine

{C) 1=t and 2m PM

(D) 2re PM and 1¢ Molar 27

Which of the following segments of the circulatory

system has the highest velocity of blood flow?

(A) Aarta

(B) Arteries

(C) Capillaries

(D) Venules
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The greatest difficully in removing caloulus from root
trunk area of malars is seen on

(A} Mesial surface of mandibular second

(B) Distal surface of maxillary first

(C) Mesial of maxillary second

(D) Distal of mandibular first

The route of drug administration used to achieve
smooth plasma concentrations of the drug without
fluctuations, minimize interindividual variations,
improve patient convenience and compliance is:
(A) Oral

(B} Intravenous infusion

(C) Transdermal

(D) Inhalation

Maodifiable risk factors for atherosclerosis include all
EXCEPT:

(A) Hyperlipidermia

{B) Hypertension

{C) Diabetes

(D} Increasing age

Tsuchihashi classification is used for

(A} Lip print analysis

(B) Bite mark analysis

(C) Age estimation in children

(0} Age estimation in adults

Which of these does NOT fall in to any of the
classes of dental materials?

{A) Ceramics

(B) Composites

(C) Cements

(D) Palymers
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23.  Sensory fibers from the spinal cord and brain stem
relay in which one of the fallowing thalamic nucleus?
{A) Ventral posterior
(B) Ventral anterior
(C) Ventral lateral
() Ventral intermediate
24, Which of the following would most likely be used for
prophylaxis of transient ischemic heart attack?
A} Heparin
(B) Warfarin
1C) Aspirin
(D) Streptokinase
25.  Topical antidote for hydrofluoric acid is
[A) Calcium oxalate
(B) Calcium stearate
() Calcium gluconate
(0 Calcium carbonate
28.  The severe form of leprosy is;
[A) Tuberculoid leprosy
{B) Borderline tuberculoid leprosy
{C) Lepromatous Leprosy
{0} Borderline lepromatous leprosy
27, \Which of the following material possess coefiicient
of thermal expansion closest to that of tooth
enamel?
{A) Dentin
{B) CF Titanium
{Z) Gold palladium alloy
(D) Amalgam
28, \Which of the following has good prognosis?
{A) Acute Lymphoblastic Leukemia
{B) Acute Myeloblastic Leukemia
{C) Chronic Myelocytic Leukemia
(D) Chronic Lymphocytic Leukemia

3.

32,

Which of the following muscle is an extensaor of
shoulder joint?

iA) Teres minor

(B} Teres major

(C) Supraspinatus

(D Serratus anterior

Latrogenic diseases are caused by;

(A) Microbes

(B} Matural minerals

(C) Drugs

(D) Cause is nat known

Which of the following is maost likely to produce the
greatest increase in insulin secretion?

{A) Amino acids

(B} Amino acids and glucose

{C}) Amino acids and somatostatin

{0} Glucose and somatostatin

How many serotypes are there in dengue virus?
{A) Four

(B) Five

{C) Ten

(0} One

Which of the following structures is related to
mediastinal surface of left lung?

(A) Descending thoracic aorta

(B) Superior vena cava

(C) Inferior vena cava

(D) Brachiocephalic vein

All of the following are benign tumours EXCEPT:
(&) Papilloma

(B) Lymphoma

(C) Chandroma

(D) Adenoma
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35,  Calcification of primary maxillary canine start at 41, In anaphylactic shock, adrenaline is injected
{months in ulero) intramuscularly at a concentration of:
(A) 3 (A) 1:1,00,000
B)4 (B) 1:10,000
{C)& (C) 1:1000
()RS (D) 1:100
36.  Negri bodies are found in cells infected with: 42.  The radiographic appearance of Cherubism is
(&) Rabies virus {A) Unilateral, Multilocular, Radiolucency
(B) Vaccinia virus {B) Unilateral, Unilocular, Radiolucency
(C) Variola virus (C) Bilateral, Unilocular, Radiclucency
{0} Orthomyxovirus (D) Bilateral, Multilocular, Radiolucency
37.  Precancerous conditions include all of the following 43.  Familial cancers are characterized by all of the
EXCEPT: following features EXCEPT:
(A) Rheumatoid arthritis {A) Late age of onset
(B) Chronic atraphic gastritis (B) Tumours in close relatives
() Chronic ulcerative caolitis (C) Multiple tumours
(D) Leukoplakia (D) Bilateral tumours
3B. A case control study is characterized by all of the 44.  What causes the release of histamine in an allergic
following EXCEPT: reaction?
(&) Relatively inexpen.s'we campared with most other {A) Binding of IgM to basaphils
epidemiclogical study designs (B) Binding of IgE to mast cells
(B) Patient with disease are compared with persons (C) Release of histamine by helper T cells
without disease (D) Free radical stimulation of endothelial cells
(C) Definition of case may be difficult 45.  For drugs with a high first pass metabolism
(D} Incidence rates may be computed directly (A) Oral dose is considerably lesser than sublingual
39.  HMG CoA lyase is present only in (B) Oral dose is considerably lesser than parenteral
(&) RBC dose
{B) Heart (C) The onset of drug action is fast
{C) Brain (D) Oral bioavailability is decreased in patients with
(D) Liver liver disease
40.  Maximum facio-lingual inclination is seen in 46.  Which immunoglobulin is heat-labile?
(A) Mandibular 2+ Molar {A) 1g-M
{B) Maxillary 2 Molar {B) Ig-A
(C) Maxillary 20 PM (C) Ig-G
{0} Mandibular 1% molar (D) lg-E
Page 5 of 16
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47.  The anterior relations of left kidney are all of the
following EXCEPT:
{A) Stomach
{B) Spleen
{C) Tail of pancreas
(D) Duodenum
48.  According to U.S. Food and Drug Administration
Regulations For Medical Devices which class of
devices are subject to most regulatory control?
(A) Class |
{B) Class Il
(C) Class 1l
(D) Class IV
49.  The mesiodistal diameter of crown of mandibular 21
molar is
(A) 10
(B) 10.5
(C19.5
(D) 11 ‘
50. ‘When AG (free energy) of a system is zero, the
reaction is
{A) proceeding in forward direction
(B) proceeding in backward direction
{C) not ocourring in any direction
(D) oceurring at equal rate in both direction
51.  Primary Mandibular 1¢ Molar has
{A) 4 Pulp horns -3 canals
{B) 5 Pulp horns ~4 canals
(Y 4 Pulp horns -4 canals
(D) 5 Pulp harns -3 canals
52.  Which of the following muscle is supplied by the
glossopharyngeal nerve?
(&) Styloglossus
(B) Stylopharyngeus
(C) Stylohyoid
(D) Palatoglossus

53.

&5.

56,

57,

58.

Which of the following arteries supply the fundus of
the stomach?

(A) Short gastric

(B) Left gastric

{C) Hepatic

{D) Right gastric

Melting point of methyl methacrylate is

(A) 48 °C

(B) 100.8 °C

({Clo®C

(D) -48 °C

The deciducus canine usually erupt by

(&) 12 months

(B) 14 months

{C) 16 months

{0} 20 months

The property of an index lo measure what it is
intended to measure is called

(A) Validity

(B) Reliability

(C) Objectivity

(D) Sensitivity

Which one of the following opens in the inferiar
meatus of the nose?

{A) Frontal air sinus

{B) Maxillary air sinus

(C) Nasolacrimal duct

(D) Posterior ethmoidal air sinus

The tumour suppressor gene is:

{A) mye

(B) fms

(C)ras

(D) Rb -
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59.  Which of the following statement is NOT true about 85,

a branchopulmenary segment in the lung?
{A) It is supplied by an independent segmental
bronchus

(B) Itis resactable

(C) It is drained by a segmental vein GE.

(D) It is supplied by a segmental artery

60. Drugs requiring a dose reduction in renal disease
include all EXCEPT
(A) Aminoglycoside

{B) Cephalexin 67.

{C) Paracetamol
{0 Amphotericin B
61.  The metabolic pathway that is essential for
conjugation of bilirubin is
(A} Glycolytic pathway
(B) Glycogenaolytic pathway

(C) Pentose phosphate pathway 68,

(D) Uronic acid pathway

B2.  Tulip shaped teeth are seen in;
A) Amelogenesis imperfecta
(B) Dentin dysplasia
(C) Regional odontodysplasia

(D) Dentinogenesis imperfecta 69,

63.  On which teeth matrix placement can pose special
prablem?
(A) Maxillary 15t PM
(B) Mandibular 15 PM
1) Maxillary 15t Maolar
(D) Mandibular 1= Malar

B4.  Which of the following viruses can produce 70,

diarrhoea?

(&) Rotavirus

(B} Calcivirus

(C) Astrovirus

(D) All of the above

Ottawa Charter focuses on

[A) Health promaotion

(B) Health rehabilitation

(C) Secondary level of prevention

(O} Tertiary prevention

The three basic educational objectives are

(&) Cognitive, affective and behavioural

(B} Planning, implementation and evaluation
(C) Mental, psychological and behavioural

(D) Social, psychomotor and interventional
Masal, lacrimal, salivary, and gastronintestinal
glands are stimulated by which of the following
substances?

IA) Acetylchaline

(B) Morepinephrine

(C) Epinephrine

(D) Serotanin

Winging of scapula cccurs as a result of injury to
which one of the following nerves?

(A) Thoracodorsal

(B) Long thoracic

(C) Axillary

(D) Suprascapular

Which transmitter agent used by the slow pain fibers
is released slowly over a period of seconds of
minutes at synapses in the dorsal horn?

[A) Acetylcholing

(B) Calcitonin gene-related peptide

(C) GABA

{0} Substance P

The success of monophase imprassion technigue
depends on which property of material?

(A) Thixotrapy

{B) Pseudoplasticity

(C) Dilatants

{0 Newtonian
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71. The type of ATPase that transport anion is 76. A drug compendia that would be used to get
(A) A-lype information regarding description of chemical
(B) P-type structure, malecular weight, physical and chemical
(C) F-type characteristics, solubility, identification, assay
(D) V-type methods, standards of purity, storage conditions and
72.  \Which of the following components of the circulatory dosage forms of officially approved drugs in a
system contains the largest percentage of total country is:
blood volume? (A) Formulary
(A) Arterioles (B} Pharmacopoeia
(B) Capillaries (C) Physicians Desk Reference
(C) Veins {D) Drugs Facts and Comparison
(D) Pulmonary circulation 77. The causative agent of Louse-borne relapsing fever
73.  Maost common neoplasm in patients with AIDS is: is:
(A} Non-Hodgkin Lymphoma (&) Borrelia recurrentis
(B) Cervical carcinoma (B) Borrelia duttoni
(C) Kaposi's sarcoma {C) Borrelia burgdorfer
(D) Anal cancer (D) Mone of the abave
74.  Where does the transmigration of white blood cells 78.  All.of the following can ba seen In hemolytic
pocur in response to infectious agents? disorders EXCEPT
(A) Arterioles 3 (&) Erythroid Hyperplasia
(B) Lymphatic ducts {B) Raised Bilirubin levels
(C) Venules {C) Raised erythropoietin levels
(D) Inflamed arteries (D) Increased red cell life span
75. Crescent shaped groove is seen in 79.  Primary tuberculosis can occur at iaII of the following
(A) Mandibular 1% PM Ses EXCERT:
(B) Mandibular 27 PM thLUng
(C) Maxillary 1% PM (5] Lempiinoties
(D) Maxillary 29 PM (C) Intestine
(D) Skin
80. The alpha blocker that is NOT approved as an
antihypertensive:
{A) Prazosin
(B} Alfuzosin
(C) Terazosin
(D) Doxazosin
Page 8 of 16
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81.  The function of gum rosin in ZOE impression paste 87.  \Why do some malnourished patients bleed
s excessively when injured?
(A} Act as an accelerator {A) Vitamin K deficiency
{B) Act as plasticizer {B) Platelet sequestration by fatty liver
(C) Increases flow {C) Increased serum bilirubin, neutralizing thrombin
(D) Act as filler (D) Low serum protein levels, causing factor Xl
82. Al of the following are oxidase paositive bacteria problem
EXCEPT: BB, Which of the following is NOT an area of high stress
(A) Neisseria species concentration?
{B) Pseudomonas species {A) Surface defects such as porosity
(C) Klebsiella spacies (B} A large difference in elastic moduli or COTE
(D) Vibrio species across a bonded interface
83. Eruption of mandibular primary canine (in months) (C) Hertzian load
(A) 11-12 (D) Mone of the above
(B) 16-20 89.  Iron deficiency is associated with all of the following
(C) 14-16 EXCEPT:
(D) 18-25 (&) Decreased Serum lron levels
84.  Which one of the following muscle causes abduction (B) Decreased serum ferritin levels
of vacal cords? (C) Decreased iron binding capacity
(A) Oblique arytenoid (D) Decreased transferrin saturation
(B) Transverse arytenaid 890. Rugger Jersey sign is seen in
{C) Posterior cricoarytenoid (A) Marfan syndrome
(D) Aryepiglotticus (B} Achondrogenasis
85. Myospherulosis occurs due to (C) Osteopetrosis _
{A) Mycobacterium tubarculosis (D) Osteogenesis imperfecta
{B) Mycobacterium leprae 21, Which of the compaonents of dentifrices is
{C) Antibiotic paste contraindicated in patients with oral mucosal
(D) Actinomyces Israelii lesions?
88. Isoenzyme may differ from each other in all of the (A} Sorbitol
following aspects EXCEPT that (B) Gum Tragacanth
(A) they have different electrophoretic mobility (C) Sodium Lauryl Sulphate
(B} they may differ in heat stability (D) Sodium bicarbonate
(C) they differ in catalytic function
() they may have different Km value
Page 9of 16
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92.  All are true about gemination EXCEPT:
{A) Anomaly results due to invagination of single
tooth germ
(B) Union of two normally separated tooth germs
(C) Two completely ar incompletely separated
crowns that have a single root and root canal
(D) Difficult to differentiate between gemination and
a case in which there has been fusion between a
narmal tooth and supernumerary tooth
93.  To check the purity of microsomal isolate, the
marker enzyme that is assayed is
{A) ATP synthase
(B) Cathepsis
(C) Glucose 6-phosphatase
{0} Lactate dehydrogenase
94.  Lipopolysaccharide is a major constituent of cell wall
of!:
{A) Gram-negative bacteria
(B) Viruses
(C) Gram-positive bacteria
(D) Fungi
95. 8. Mutans is associated with all of the following
EXCEPT
(&) Deep dentinal caries
(B) Pit and fissure caries
{C) Root surface caries
(D) Smooth surface caries
B8, MMR vaccing is:
(A) A live attenuated vaccine
(B) A killzd vaccine
(C) A subunit vaccine
(D) Mone of the above

By.

a8.

a9.

100.

101,

102,

In Treacher Collins syndrome there is;

{A) Upward sloping of the palpebral fissure

(B) Poorly developed or absent malar bones

() Mandibular prognathism

(D) Normal hair growth

Fessa’s bodies are intracellular inclusion bodies
seenin

(&) Aplastic anemia

(B) Thrombocytopenia

(C) Polyeythemia vera

(D) Coaley's anemia

Autosplenectomy can ocour in;

(A} Hereditary spherocytosis

(B) Sickle cell anaemia

{C) Thalassemia

(D) Hereditary ovalocytosis

B lymphocytes develop into:

[A) Manocytes

(B) Natural Killer cells

(C) Plasma cells

(D) Dendritic cells

The caries activity test that measures the rapidity of
acid formation when the sample of stimulated saliva
is inoculated into glucose agar is

(A) Buffer capacity Test

(B) Snyder tast

(C) Fosdick Calcium Dissolution test

(D) Plague-toothpick test

In which type of shock does cardiac eutput often
increase?

&) Hemorrhagic shock

(B) Anaphylactic shack

{C) Septic shock

(D) Neurogenic shock

‘Page 10 of 16
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103. Beta-alanine is present in 108. E-rosettes are formed by:
(A) Coenzyme A (A) T lymphocytes
(B} SR3-A (slow releasing substance of (B) Monocytes
anaphylaxis) (C) B lymphocytes
. {C) Phospholipase A; (D) Granulocytes
(D} Protein kinase A 110, ART was launched by the WHO in the year
104. Which of the following is NOT a lipogenic hormong? {A) 1978
(A) ACTH {B) 1984
(B) Insulin (C) 1975
(C) Glucocorticoid (D) 1994
(D) Thyroxin 111. Bacteria which grow at optimum temperature range
105. Which of the following viruses is having double of 25 °C to 40 °C are called:
stranded RMNA genome? {A) Mesophiles
(A} Parvovirus B-19 {B) Psychrophiles
(B) Human Rotavirus {C) Thermophiles
{C}) Human Adenovirus (D} None of the above
{D) Dengue virus 112, Safety pin cells are seen in
108. The highest level of hierarchy of evidence is (A} Cooley's anaemia
(A) RCTs 5 (B) Aplastic anasmia
(B) Longitudinal cohort study {C) Sickle cell anaemia
(C) Systematic review and meta-analysis (D) Pernicious anasmia
(D) Case report 113, Which of the following refers to magnitude of elastic
107. Essential Medicines are medicines that; stress abowve which plastic deformation ocours?
(A) Satisfy the priority healthcare needs of the (&) Modulus of elasticity '
population (B} Proportional limit
(B} Are required for treating emergency conditions (C} Resilience
(C) Require essential criteria while dispensing {D) Poisson's ratio
(D) Are restricted medicines that can only be given 114. Consequences of micrasomal enzyme induction
on the prescription of a doctar include all EXCEPT;
108. In a normal, healthy person, which of the following (&) Failure of contraception with eral contraception
blood components has the shortest life span? (B) Acute paracetamal toxicity at lower doses
(A) Macrophages (C) Decrease in tolerance to action of
{B) Memory T cells carbamazepine
(C) Erythrocytes (D) Inhibition of acute intermittent porphyria
(D) Memory B lymphocytes
Page 11 of 16 )
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115.

116.

117,

118.

119.

The approach that assesses how advantages and

disadvantages pool in and affect the social

development at socially critical period is;

A} Health Belief Model

(B) Stages of Change model

(C) Life course analysis

{0} Social capital concept

Contact area of distal surface of maxillary first

premolar be placed in

(A) Middle 1/3 of proximal surface with greater
lingual embrasure

(B) Occlusal 1/3 of proximal surface with greater
facial embrasure

(C} Occlusal 1/3% of proximal surface with greater
lingual embrasure

(D) Middle 1/3r of proximal surface with greater
facial embrasure

Purely ketogenic amino acid is

[A) Lysine

(B) Leucine

{C) Isoluecine

{0} Tyrosine

Fracture of base of skull involving the jugular

foramen will result in injury to all of the following

EXCEPT:

(A) Internal jugular vein

(B) Glossopharyngeal nerve

(C) Vagus nerve

{0} Hypoglossal nerve

In a vitapan classical shade guide which tab

possesses the lowest value?

(A) B1

(B) D4

(C) A1

(D) C4

120.

121.

122,

123

124,

Free ion activity of calcium in the extracellutar fluid
will be increased within 1 minute by which of the
fallowing?

(&) Reduction in extracellular phosphate ion activity
(B) Reduction in extracellular pH

{C) Increase in extracelluiar PCO=

{0 All of the above

& patient suffers from a congenital deficiency of
factor X1l (fibrin-stablising factor). What would
analysis of his blood reveal?

(A} Prolonged prothrombin time

(B) Prolonged whole blood clotting time

{C} Prolonged partial thromboplastin time

{D) Easily breakable clot

Which of the following fibers pass through the
anterior limb of internal capsule?

(A} Frontoponting

(B] Temporopontine

(C) Corticonuclear

(D) Auditory

The H. antihistamine with low anticholinergic action
is;

(A} Chlorpheniraming

(B} Promethazine

iC) Diphenhydramine

(D) Dimenhydrinate

Which of the following is NOT a key gluconeogenic
enzyme?

{A) Pyruvate dehydrogenase

(B) Pyruvate carboxylase

{C) Phosphoenolpyruvate carboxykinase

(D) Fructose 1,8-bisphosphatase
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125,

126.

127.

128,

129.
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Incubation period of Measles is

(A) 1-T days

(B} 7-14 days

(C) 14-21 days

(D) 2-6 wks

It has been suggested that dental surgeons may
axaming men whao use smokeless tobacco more
often than men who do not. Hence this type of
observation may result in an association amang the
OSMF to smokeless tobacoo, the association may
be due to

(A Selection bias

(B) Surveillance bias

(C) No-response bias

{D) Recall bias

Which of these is a type of biocompatibility test?
{A) In vitro test

(B} Animal test

(C) Usage test

(D) All of the above -

Which primary teeth has prominent facial cervical
ridge that makes it unigue?

(&) Maxillary canine

(B) Maxillary 2r Molar

(C) Mandibular 2 Molar

(D) Mandibular 1= Molar

The type of epidemic curve that is generated by
spread of infectious agent through a common carrier
and has only ane incubation period is known as
[A) Type | epidemic curve

(B} Type Il epidemic curve

(C) Mixzed epidemic curve

(D) None of the abave
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The virus which causes herpes zasler is same as
that which causes

A} Herpes simplex

(B) Herpangina

{C) Chicken pox

{D) Measles

Sapanification number of fat indicate its

(A) Maolecular weight

(B) Amphipathic nature

(C) Level of unsaturation

(D) Level of rancidity

Chronic Myeloid Leukemia shows reciprocal
translocation betwean:

(A) 11;22

(B) 9:22

(C) 814

(D) 8:21

Which of the following teeth is least likely to have a
divided pulp canal?

(A) Maxillary C

{B) Mandibular Cl

{C) Maxillary Premolar

(D) Mandibular Premolar

CAMP reaction is used for identification of:
(A) Group A Streptococc

(B} Group B Streptococe

{C) Group C Streplococci

(O} Viridans Streptococci

Which of the following muscle is attached to the iliac
crest on hip bone?

(&) Pactineus

(B) Psoas major

(C) lliacus

(D) Latissimus dorsi
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The fluids, which exhibit rigid behavior initially and

then attain constant viscosity are referred to as:

{A) Plastic

(B) Dilatant

{C) Newtonian

{0} Pseudoplastic

Titanium is an ingredient of which of the fallowing

impressiocn material?

{A) Polysulphide

(B} Condensation silicone

(C) Addition silicone

1D} Polyether

All are true for probenecid EXCEPT:

iA) Decreases concentration of penicillin in urine

(B) Decreases concentration of nitrofurantoin in
urine

(C) Decreases concentration of uric acid in urine

(D) Decreases concentration of methotrexate in
urine

Which of the following’is NOT a

homopolysaccharide?

A} Glycogen

(B} Inuline

(Z) Dextran

(D) Heparin

When debranching enzyme acts on 1,6 linkage of

glycogen, the end product is

(A} Glucose

(B} Glucose B-phosphate

(C) Glucose 1-phosphate

() UDP-glucose

141.
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What condylar movement is seen as mandible

moves from a pure protrusive movement i.e, from

intercuspal position to maximum protruded position?

(A Translation

(B) Rotation

(C) Hinge

(D) Medial and Forward

Target lesions are seen in;

1A} Pemphigoid

(B) Lichen planus

{C) Erythema multiforme

(D) Mickulicz's disease

Transformation of genetic element through free or

naked DMNA is:

(A} Transduction

(B} Mutation

() Transformation

(D) Conjugation

Autosomal Dominant inherited predisposition is seen

in:

(A} Fanconi's Anaemia

(B} Ereast cancer

(C) Retinoblastoma

(D) Eloom's syndrome

Mone of these futile cycle operates in human body

EXCEFT cycle between

(A) Glucose G-phosphate and Glycogen

(B} Glucose and Pyruvate

(C) Fatty acid and Acetyl CoA

(D) Fructose §-phosphate and Fructose 2,
E-bisphosphate
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Which of the following represents the basis for

transduction of a sensory stimulus into nerve

impulses?

{A&) Change in the ion permeability of the receplor
membrane

{B) Generation of an action potantial

{C) Inactivation of a G protein-mediated response

(D) Protein synthesis

Cutright lesion is a type of

(4) Chondroid metaplasia

(B) Osseous hyperplasia

(C) Dental dysplasia

(D) Fibrous aplasia

Uses of HT antagonists include all EXCEPT:

(&) Migraine

[B) Psychosis

(C) Emesis

(D) Postgastrectomy dumping syndrome

Which cells are infected most often by HIV?

{A) CD4 + T lymphocytes

(B} CDE + T lymphocytes

(C) B lymphocytas

(D) None of the above

All the following inhibit CYP3A4 EXCEPT:

{A) Erythromycin

{B) Fexofenadine

{C) Clarithromycin

{0} Ketoconazaole

Space for Rough Work:
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